
10-10 012135301

PUMP CASE

SUCTION FLANGE

CHECK VALVE

FLANGE BRACKET

VOLUTE CASING

IMPELLER

DELIVERY FLANGE

FLANGE PACKING

BASE SET

ADJUSTING WASHER

20A PLUG SET

ENGINE

MECHANICAL SEAL Ø18

NAME PLATE

O-RING 1517-42.5 

O-RING P54 

BOLT M8×20 

BOLT M8×25

BOLT M8×35 

BOLT M8×22 

PARTS NAME QTY

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20

No.

0120195

0114387

0112665

0112579

0114228

0114227

0114388

0110541

0128359

0110466

0118078

-

0110688

0121354

0115014

0112792

743119045

743119047

743119051

743119046

PARTS CODE

SEV-40R

4
8
4
1
1
4
4
4
4

1
1
1
1
1
1
1
1
1
3
2
1
1
1
1
1
3
4
4
4

SOCKET BOLT M8×60

NUT M8

SEAL WASHER Ø8

SIDE PANEL LABEL

CUSHION RUBBER SET

CUSHION RUBBER

WASHER Ø8

SPRING WASHER Ø8

BOLT M8×20 

PARTS NAME QTY

21
22
23
24
25
26
27
28
29

No.

734532076

827419008

854255008

0120428

0117345

0110515

846007008

843822008

735719148

PARTS CODE

PARTS LISTPERFORMANCE CURVE

SPECIFICATIONS

20 60 80
40

30

20

10

0 100 200 300 400

100
(USG/min)

40

DELIVERY VOLUME (L/min)
Note: Performance ratings are guaranteed minimum, not inflated maximum.

T
O

T
A

L 
 H

E
A

D
 (

m
)

(ft)

120

90

60

30

SEV-40R

*For the purpose of improvement, specifications are subject to changes without notice.

Model

Connection Dia
Connection Thread
Total head
Delivery Volume
Max. Suction Head

Model

Exhaust Volume
Output Max Power
Fuel
Fuel Tank Capacity
Starting Method

Standard Accessory
Net Weight

SEV-40R

40 mm (1.5") 
Outer Pipe Thread 

36 m (118 ft)
340 L/min (89 USG/min)

8 m (26 ft)
Forced Air Cooling 4 Stroke Gasoline Engine

K 136 
136 cc 

2.9 kW (4.0 PS) / 4000 rpm 
Automotive Unleaded Gasoline

2.6 L 
Recoil Starter

1 Engine Tool Set
24.3 kg (53.5 lbs)

P
U

M
P

E
N

G
IN

E

Customer Service for US & Canada Customer 
Toll Free 1-800-634-4092 /or CustomerService@koshinamerica.com
Koshin America Corporation : 1218 Remington Rd, Schuamburg, IL 60173
TEL: 1-847-884-1570 FAX: 1-847-310-0740   www.koshinamerica.com

OUTLINE DRAWING

12
5

404
80

G11/2

489
100

16
3

32
139

6


